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38,451 8,359| 34,433| 35,823| 10,200 —| 51,513| 15,852| 61,390|256, 021
68,860 6,654| 21,012| 41,557| 9,946 —| 57,861 43,398|145, 386|394, 674
50,210 5,944 27,714| 52,229| 3,793 —| 77,589| 21,156| 77,880|316,515
57,444| 7,627| 75,695| 39,856| 43,581 —| 95,829| 19,953| 70,610(410,595
84,408 8,890| 84,494 52,096| 77,910 — (109, 619| 26,804| 68,673 |512, 894
93,109 8,304| 60,795| 54,951| 28, 996 — 119, 465| 34,790| 82,361|482,771
61,015| 13,780|101, 511 33,988 702 — 104, 659 | 44,356| 60, 063|420, 074
77,483| 7,018| 40,214 25,207| 39, 606 —[112,667| 22,140| 19,184 343,519
40,597| 11,037| 40,924| 20,193| 37,791 —| 91,478| 32,485| 39,005]313,510
33,497| 6,634| 55,172| 21,387| 45,971 7,914| 89,088| 28,271| 35,842|323,776
53,327 | 12,172| 43,009| 41,617| 38,168 379|121, 179| 31,300 41,918|383, 069
70,363 | 13,239| 64,965| 65,990 37,031| 30,153|115,692| 34,048| 30, 097|461,578
50,284| 7,407| 65,352| 33,723| 22,729 35,200|103,486| 31,438| 56,508|406, 127
61,158 9,609| 89,934| 61,153| 23,932| 20,981|103,566| 32,763| 59,111|462, 207
52,706| 8,813| 82,853| 49,985| 27,538| 62,773| 82,633| 36,391| 68,414(472,106
68,223| 12,254| 62,785| 52,841| 61,432| 55,599| 95,061| 34,664| 33,370|476, 229
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